Choose the Operation
Circle the operation that will help you solve the problem

Mary has $7 in her wallet. She has $2
more than Sophie.

How much money does Sophie have?

7-2 7+2

Jack has 12 cards in his collection. He
gives Peter 3 of them.

How many cards does he have left?

12-3 12t3

A chocolate bar costs $2. Mary gives the

store assistant $10.

How much does he give her back?

10=2 10+2
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Sarah has 8 pictures in her album. She
has 4 more pictures than Emma.

How many pictures does Emma have?

8+4 8-4

Tony has 3 brothers. He has 1 more
brother than Mark does.

How many brothers does Mark have?

3=1 S+l

Peter has 8 marbles. He gives his
brother 3.

How many marbles does he have left?

8+3 8-5



